

$2x^2 - \alpha x + \epsilon = 0 \quad \epsilon \beta = \alpha$   
 $\alpha \cdot \beta = \frac{\epsilon}{\alpha} = \frac{\epsilon}{\beta} \rightarrow \alpha \beta = \epsilon \beta (\beta) = \epsilon \beta^2 = \frac{\epsilon}{\beta}$   
 $\rightarrow \beta^2 = \frac{\epsilon}{\alpha} \rightarrow \beta = \frac{\sqrt{\epsilon}}{\alpha} \rightarrow \alpha = \sqrt{\epsilon}$   
 $\rightarrow \beta = \frac{\sqrt{\epsilon}}{\sqrt{\epsilon}} = 1 \rightarrow \alpha = 1$   
 $\rightarrow \beta = -\frac{\sqrt{\epsilon}}{\sqrt{\epsilon}} = -1 \rightarrow \alpha = -1$   
 $\xrightarrow{x=1} 2(1)^2 - \alpha(1) + \epsilon = 0 \rightarrow 2 - \alpha + \epsilon = 0$   
 $\xrightarrow{x=-1} 2(-1)^2 - \alpha(-1) + \epsilon = 0 \rightarrow 2 + \alpha + \epsilon = 0$   
 $\begin{cases} 2 - \alpha + \epsilon = 0 \\ 2 + \alpha + \epsilon = 0 \end{cases} \rightarrow \begin{cases} \alpha = \epsilon \\ \alpha = -\epsilon \end{cases}$   
 $\alpha = 1 \rightarrow \epsilon = 1$   
 $\alpha = -1 \rightarrow \epsilon = -1$

$4x^2 - (m+14)x + 1 = 0 \quad \alpha + \beta = -\frac{b}{a} = -\frac{m+14}{4}$   
 $\alpha \cdot \beta = \frac{c}{a} = \frac{1}{4} \rightarrow \frac{1}{\alpha\beta} = 4$   
 $\frac{1}{\alpha} + \frac{1}{\beta} = 4$   
 $\frac{1}{\alpha} + \frac{1}{\beta} + \sqrt{\frac{1}{\alpha\beta}} = 4 \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} + \sqrt{\frac{1}{4}} = 4$   
 $\frac{1}{\alpha} + \frac{1}{\beta} + \frac{1}{2} = 4 \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{7}{2}$   
 $\frac{\beta + \alpha}{\alpha\beta} + \sqrt{\frac{1}{\alpha\beta}} = 4 \rightarrow \frac{m+14}{4} + \sqrt{\frac{1}{4}} = 4 \rightarrow \frac{m+14}{4} + \frac{1}{2} = 4$   
 $\frac{m+14}{4} = \frac{7}{2} \rightarrow m+14 = 14 \rightarrow m = 0$

$5x^2 + kx^2 - 9x - 2 = 0 \quad \alpha + \beta = 1 \quad \alpha\beta = -2 \quad k = ?$   
 $\alpha + \frac{-2}{\alpha} = 1 \rightarrow \alpha^2 - \alpha - 2 = 0 \rightarrow \alpha = -1$   
 $\alpha = -1 \rightarrow \beta = -2$   
 $\xrightarrow{x=-1} 5(-1)^2 + k(-1)^2 - 9(-1) - 2 = 0 \rightarrow 5 + k + 9 - 2 = 0 \rightarrow k = -12$   
 $\xrightarrow{x=2} 5(2)^2 + k(2)^2 - 9(2) - 2 = 0 \rightarrow 20 + 4k - 18 - 2 = 0 \rightarrow 4k = 0 \rightarrow k = 0$

$x^2 + 4x + a = 0 \quad \alpha + \beta = -4 \quad \alpha\beta = a$   
 $\alpha^2 + \beta^2 = 5^2 - 16 = 9$   
 $\alpha^2 - \beta^2 = (\alpha + \beta)(\alpha - \beta) = -4(\alpha - \beta) = 9 - a$   
 $\alpha - \beta = \frac{9-a}{-4} = \frac{a-9}{4}$   
 $\alpha = \frac{-4 + \frac{a-9}{4}}{2} = \frac{-16 + a - 9}{8} = \frac{a-25}{8}$   
 $\beta = \frac{-4 - \frac{a-9}{4}}{2} = \frac{-16 - a + 9}{8} = \frac{-a-7}{8}$   
 $\alpha\beta = a \rightarrow \frac{(a-25)(-a-7)}{64} = a$   
 $-(a-25)(a+7) = 64a$   
 $-a^2 - 7a + 25a + 175 = 64a$   
 $-a^2 + 18a + 175 = 64a$   
 $-a^2 - 46a + 175 = 0$   
 $a^2 + 46a - 175 = 0$   
 $a = \frac{-46 \pm \sqrt{46^2 + 4 \cdot 175}}{2} = \frac{-46 \pm \sqrt{2116 + 700}}{2} = \frac{-46 \pm \sqrt{2816}}{2}$   
 $a = \frac{-46 \pm 53.06}{2}$   
 $a = 3.53$  or  $a = -49.53$

$x^2 - 7x - 5 = 0 \quad A = 2x^2 - 5x + 3 = ? \rightarrow 2(-\frac{7 \pm \sqrt{49}}{2})^2 - 5(-\frac{7 \pm \sqrt{49}}{2}) + 3$   
 $x^2 = t \rightarrow t^2 - 7t - 5 = 0 \rightarrow \Delta = 49 + 20 = 69$   
 $t = \frac{7 \pm \sqrt{69}}{2}$   
 $x = \frac{7 \pm \sqrt{69}}{2}$   
 $A = 2(\frac{7 \pm \sqrt{69}}{2})^2 - 5(\frac{7 \pm \sqrt{69}}{2}) + 3$   
 $A = \frac{2(49 \pm 7\sqrt{69} + 69) - 35 \pm 5\sqrt{69} + 6}{2}$   
 $A = \frac{194 \pm 7\sqrt{69} - 35 \pm 5\sqrt{69} + 6}{2}$   
 $A = \frac{165 \pm 12\sqrt{69}}{2}$   
 $A = \frac{165}{2} \pm 6\sqrt{69}$

$P = \sqrt{\frac{7+\sqrt{69}}{2}} - \sqrt{\frac{7-\sqrt{69}}{2}} = -\frac{7+\sqrt{69}}{2}$

